3/4” X 1-1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE-

)

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT
OF THE DOOR.

kY

1/4" X 1/2" LONG
CARRIAGE 'BOLT & NUT
USE_EXTRA

1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

|

/—SEE DETAIL "E"

\
13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACI
FASTEN TO WOOD JAMB WITH
5/16" X 1—1/2"LAG SCREWS.

2" 16 GAGE GALV. STEEL
VERTICAL TRACK BOLTED TO
WINDLOAD TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS

X 3/4"
SCREWS.

,. %)
ShEei et >
p

KET.

A~

i !
54 DECORATIVE SHORT EMBOSS,
DECORATIVE LONG EMBOSS
OR FLUSH ON EXTERIOR SIDE, A
OPENING HEIGHT
(NOT OVER

DOOR HEIGHT)

:

1

Sl

DETAIL E

(9 X 7)
(3 BRACKETS EACH SIDE)

i

STOP MOLDING NAILED EVERY 9
D TYPE NAIL MIN.

RN~ 3 T

LE LE
% 4%
> POLYSTYRENE INSULATION
T (E%EEQLEDSTTEOELINSTEN?R AND SE ONE EXTRA SELF DRILLING SCREW
18 GAGE GALV. STEEL CENTER HINGE 21" HIGH SECTION THROUGH TOP  LEAF OF HINGE,
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. "SEE ABOVE" GALV. AND PREPAINTED STEEL ATTACHED WITH 3 FASTENERS
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1—1/2 o SEE DETAIL F DETAIL C ) )
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAIL “E”. (@ NOTE. GLAZING DOES NOT SATISFY IMPACT 9 >< 7
SECTION B—B " DEBRIS REQUIREMENTS IN FBC FL 15078
SECTION A—A
P.S.F. TABLE 5800 SCOTT
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE 4 SECTION [ NS HAMILTON DR.
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE ~2XE OF TE2 Wy LITTLE ROCK, AR
P B— NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE SRl S Yy 79209
9'-0"|7'-0"|+31.2|-35.8 |+46.8|—-53.7 1/47-20 X 5/8" HEX BOLTS & NUTS OR ra RO (501) 5621872
1/4" X 3/4"LONG HEX HEAD SHEET METAL SCREWS. P *0‘
7 " "
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES %5 ) MODELS: 49
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17. ; JOHNE. SCATES ¢
(I eienm s D |roLLer nores, Pe Aoress| 5/29,/20 PART NAME:
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. 1'4-,_. 56308 it C [Rev toco & rooress[1,/28,/13 WINDLOAD RESIDENTIAL SANDWICH DOOR
"3 <, 0 & B 2/15/11] RLB | OLERANCE W3 B
o E Seates PE - — Digitally signed by John E. Scates, P.E. ‘\“@SCENS‘ao\ﬁ- FRAGE 1/64°
2560 King. Arthur Bivd #124—54 Professional Engineer's seal Date: 2020.11.10 15:26:43 -06'00" W /\ONALE - A | 2866 [3/10/08| RLB i3 15 NEXT LEVEL DATE: DWG. NO.
Lewisville, TX 75056 provided only for verification of N J 2851 [11/1/07| RLB |ANG * 1 11/1,/07 99—-B—087
TX-PE 56308, F-2203 windload construction details. SCAE [PLOT SCALE | DRN. BY EMM—m— =7
FL—PE-51737 COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. REV.|E.C.N. | DATE: |APPROV. BH SHT 1 OF 4

16GA. GALV. STEEL
TOP BRACKET WITH
14GA. ROLLER HOLDER
SEE DETAIL D.

OPTIONAL SSB GLASS LIGH ALTERNATE CONSTRUCTION
TS_\:JSING (2) STRUT
3 WIDE STRUTS

A

X

3" 20 GAGE

(SEE DETAIL A)

RUT MOUNTED JUST BELOW TOP BRACKET.

INTERIOR GALV. & PREPAINTED STEEL

SKIN.
/_ 27 GAGE.

o”
7 BALL STEEL
_
' 14 GAGE GALV. STEEL
END HINGES ATTACHED

WITH (5) SCREWS.
SEE DETAL C.

KTRUT MOUNTED ABOVE HINGE

ROLLER WITH 7/16” DIA. SHORT STEM
10 BALL STEEL OR 11 BALL NYLON ALLOWED

1/4"X 3/4” LONG HEX HEAD SELF
DRILLING SCREWS.

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4”
LONG HEX HEAD SELF

DRILLING SCREWS.

(6 PER STRUT FOR 9° WIDE DOOR)

STRUT MOUNTED BELOW #1 HINGE

B
OPTIONAL Lock—" |

OPTIONAL;
4 X 16 AR VENT
2) REQ'D

60 SQ. IN. MIN.
OTAL OPEN AREA.

—~1.25" |-
|

5
f—2.75" —+

4
DETAIL A

3" 20GA WIDE STRUT

1 { 1
G [

{ I(
% //|/)|’////|

<

a
i

NI

-

T

9’ (SINGLE CAR)

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH

TRACKS ON DOORS WITH EXTENSION
SPRINGS).

-

|
!

CENTER HINGES
(1) COLUMN



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


1/4" X 1/2" LONG ALTERNATE CONSTRUCTION

3/4" X 1-1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE. 2" GALV. STEEL CARRIAGE BOLT & NUT OPTIONAL SSB GLASS LIGHTS USING (2) STRUTS
HORIZONTAL TRACK
16 GAGE OR 13 GAGE
BASED ON THE WEIGHT ] L
@ OF THE DOOR 3 WIDE STRUTS [~
" " 3" 20 GAGE
N USE (2) 1/4" X 3/4
| SRl St ~ (SEE DETAIL A)
7
/ 13 GAGE MIN. GALV. STEEL DETAIL D g8
TRACK SPLICE OR FLAG BRACKET. —_—
FASTEN TO WOOD JAMB WITH
5/16" X 1-1/2"LAG SCREWS. LZI/_ STRUT MOUNTED BELOW TOP ROLLER CARRIER OPTIONAL: LOCK
2" 18 GAGE GALV. STEEL 125" OPTIONAL: vzAH
f VERTICAL TRACK BOLTED 4 X 16 AIR VENT L
T(} TRACK BRA/CKEI'S WITH 2" —= ] %2) S . MIN A
1/4"-20 X 5/8" TRACK BOLTS ; " ROLLER WITH 7/16" DIA. SHORT STEM » OTAL OPEN AREA. ,
7 BALL STEEL 3 | 9" (SINGLE CAR)
10 BALL STEEL OR 11 BALL NYLON ALLOWED
1P l CENTER HINGES (1) COLUMN
» 4 SECTIONS
OPENING HEIGHT : — 275" —
(NOT OVER . 14 GAGE GALV. STEEL DETAIL A NOTE: DOOR MUST BE INSTALLED
DOOR HEIGHT) 63 END HINGES ATTACHED 3" 20GA WIDE STRUT WITH EITHER AN ELECTRIC OPERATOR
~ WITH 4 SCREWS SEE DETAIL C OR A LOCK (MUST ENGAGE BOTH
J X6 DECORATIVE SHORT EMBOSS, ~—] gﬁg‘l’ﬁgs)‘?" DOORS WITH EXTENSION
_ DECORATIVE LONG EMBOSS ~=———— INTERIOR GALV. & PREPAINTED STEEL
, OR FLUSH ON EXTERIOR SIDE. ‘ SKIN.
27 GAGE.
o) /O\ 16 GAGE ENDCAP
37" DETAIL E 7 : STRUT MOUNTED OVER LOWER LEAF o
—_—— z OF #2 HINGE SEE DETAIL G
(9 X 8)
(3 BRACKETS EACH SIDE)
ALVANIZED STEEL STRUT, o /
o T ATTACHED WITH 1/4” X 3/4" R 7
LONG HEX HEAD SELF
SEE DETAL E DRILLING SCREWS. UPPER STRUT REF: Y \,
7l STOP MOLDING NAILED EVERY 12" K (6 PER STRUT FOR 9° WIDE DOOR) \/\J LH /
y 1, D TYPE NAIL MIN. § \ —17 -A-
(| i » DETAIL G
4['4" b" 24" HIGH SECTION POLYSTYRENE INSULATION —
11 ﬁ 1t A EXTERIOR MATERIAL 27 GAGE (LAMINATED TO INTERIOR AND
GALV. AND PREPAINTED STEEL EXTERIOR STEEL SKIN)
— DETAIL C
18 GAGE GALV. STEEL CENTER HINGE LAG SCREW
ATTACHED WITH 4 FASTENERS. 5/16" X 1-1/2 RUT MOUNTED IN CENTER BOTTOM SECTION
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16” X 1—1/2"
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAIL "E".
13 GAGE GALV. STEEL BOTTOM BRACKET
SECTION B-—B i ATTACHED WITH 3 FASTENERS
NOTE: GLAZING DOES NOT SATISFY IMPACT 9 X 8
5 SFTABLE SECTION A—A DEBRIS REQUIREMENTS IN FBC FL 15078
DOOR_SIZE DESIGN_PRESSURE | TEST PRESSURE [ <SS
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE [NEGATIVE|  NOTE: ALE NON-DESCRIPTVE FASTENERS, SHOWN TO BE =% JEOFT E,y;\\ 5800 SCOTT
9’—0"8'=0"|+27.0|-30.4 |+40.5 |-45.6 174" X 3/4" LONG HEX HEAD SHEET METAL SCREWS. X R EDSOR | DR
s = w b LITILE ROCK, AR
3.7 “ % " 72209
s - 501) 562—1872
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES ;.?‘.: ..................... X (501)
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108—05/12/17. 7 JOHN E. SCATES ‘ MODELS:
e et e 790
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. [ A ;o
";991_ 56308 Q': D |rower notes, Pe apoResy 5/29/20 PART NAME:
(0)% WINDLOAD RESIDENTIAL SANDWICH DOOR
.\p@ {./CENSQ.- \Q: C [REv LoGo & ADDRESS|(1,/28/13 W3 B
TN G 5 2/15/11] RLB | TOLERANCE
John E Scates PE Professional Engineer’s seal W /9\N AL\E i FRAC. 1/64"
2560 King_Arthur Bivd #124—54| 0T gineer's se N A | 2866 |3/10/08| RLB JrRe:'4%8 | NEXT LEVEL|  DATE: DWG. NO
Lewisville, TX 75056 provided only for verification of 2851 [11/1/07] RLB et 11/1/07 . :
TX-PE 56308, F-2203 windload construction details. 99—-B—-087
FL-PE-51737 COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. REVIECN | DATE: | aPPROV.| SCALE [PLOT SCAEE | DRN. BY |[——————"—
|ECN. : 1 NONE BH SHT 2 OF 4



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


3/4" X 1-1/2" X 13GAGE MIN.
2” GALV. STEEL
HORIZONTAL TRACK

GALV. ‘STEEL HORIZONTAL ANGLE.
@ / \or THE DOOR.
\

LY

FASTEN TO WOOD JAMB

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT

\
13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.

WITH

5/16" X 1—1/2°LAG SCREWS.
2" 16GA. GALV. STEEL
|~ VERTICAL TRACK BOLTED
70 TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK BOLTS

1/4" X 3/4"
SHI

HEX
DRILLING SCREW

—SEE DETAIL E

OPENING HEIGHT
NOT OVER
DOOR HEIGHT)

§
74" (16 X 8)

DETAIL E

(16 X 7)
(4 BRACKETS EACH SIDE)

(16 X 8)
(5 BRACKETS EACH SIDE)

DECORATIVE SHORT EMBOSS,
DECORATIVE LONG EMBOSS
OR FLUSH ON EXTERIOR SIDE.

STOP MOLDING NAILED EVERY 6"
D TYPE NAIL MINIMUM

GALV. STEEL CENTER HINGE

18 GAGE
ATTACHED WITH 4 FASTENERS.

FOR SPACING.

13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE
FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2

LAG SCREW
5/16" X 1-1/2"

LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAIL "E".

SECTION B-—B

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"-20 X 5/8" HEX BOLTS & NUTS OR
1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

P.S.F. TABLE
DESIGN PRESSURE | TEST PRESSURE
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE

+26.0 |—29.1|+39.0 |—-43.7
+26.0 [—29.1 |+39.0 [-43.7

DOOR SIZE
WIDTH | HEIGHT

16:_0:: 7:_0::
161_011 81_011

21" HIGH SECTION
EXTERIOR MATERIAL 27 GAGE

GALV. AND PREPAINTED STEEL

4

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

John E Scates PE

- .
2560 King Arthur Bivd #124—54 Professional Engineer's seal

IT_?(wis\glles, :-s%(a 058 5 provided only for verification of
FL_PE-51737 windload construction details.

(3) 1/4" CARRIAGE BOLTS

DETAIL D

" ROLLER WITH 7/16 DIA.
LONG STEM.
10 BALL STEEL OR 11 BALL NYLON
—0 UT MOUNTED OVER LOWER LEAF
OF HINGE (DETAL G)

—~{1.25" |
5
N 4
v 0 Je—2.75" —=|
DETAIL A

{34 S S o
NOTE THAT ROLLER HOLDER 37 18GA WIDE STRUT

CURL IS TURNED DOWN. /
UT MOUNTED BELOW

SEE DETAIL D.
TOP ROLLER CARRIER

B
sr\lKTIERIOR GALV. & PREPAINTED STEEL
27 GAGE.

STRUT MOUNTED ABOVE HINGE
{DETAIL G)

]

B a—
f:n’/
14 GAGE GALV. STEEL

END HINGES ATTACHED
WITH 6 SCREWS. SEE DETAL C & G.

DRILLING SCREWS.

STRUT MOUNTED ABOVE #1 HINGE
(DETALL G) T

ALVANIZED STEEL STRU

T.
ATTACHED WITH 1/4" X 3/4”
LONG HEX HEAD SELF

DRILLING SCREWS.

b

2%
I~

s
=
=
—]
—

(o)
STRUT MOUNTED OVER LOWER LEAF €)
OF #2 HINGE (DETALL G)
T
1/4"X 3/4" LONG HEX HEAD SELF
I

T

) 19-1/4"
(10 PER STRUT FOR 16’ WIDE DOOR) S-1/%
POLYSTYRENE INSULATION

(LAMINATED TO INTERIOR AND

EXTERIOR STEEL SKIN)

RUT MOUNTED IN CENTER OF
BOTTOM SECTION

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 FASTENERS

6 _WIDE_STRU

ALTERNATE CONSTRUCTION
USING (2) STRUTS

3" 18 GAGE OPTIONAL SSB GLASS LIGHTS A
(SEE DETAL A) Py \ "
Va4 M v 72 m a1 2 ,
B 4 v,y y.y B
opTIoNAL—/ - -
LOCK v N ¢

OPTIONAL: _/Hm_m
4 X 16 AR VENT-

16’ (DOUBLE CAR)

§120 SQ. IN. MIN. !
OTAL OPEN AREA.

4 SECTION

CENTER HINGE

3 COLUMNS
ALTERNATE CONSTRUCTION
8 WIDE_STRUTS USING (2) STRU
3" 18 GAGE \ OFTIONAL SSB GLASS LIGHTS — -
(SEE DETALL A) ~ 7 —1-
77 7V 17 7// 7| VAWV
NOTE: DOOR MUST BE INSTALLED ’ 8
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION
SPRINGS).
B A r.Y a
opmonaL _f = = T
LOCK v N v

OFTI

ONAL: __'_Lm_m
4 X 18 AR VENT
REQ'D

16' (DOUBLE CAR)

4
§120 SQ. IN. MIN. !
OTAL OPEN AREA.

TYP. LOWER STRUT REF.

S SECTION

USE TWO EXTRA SELF DRILLING

[o]

SCREWS THROUGH TOP AND
BOTTOM LEAF OF HINGE,

\\/‘\\

\

END CAP AND HINGE PLATE. \

X 1

ob

[¢ 1]

/

TYP. UPPER STRUT REF.

LN

D

s )
\/\J L-H- /
ETAIL G

DETAIL C

CENTER HINGE
3 COLUMNS

13 GAGE ENDCAP

16 X 7

— - NOTE: GLAZING DOES NOT SATISFY IMPACT
SECTION A—A SECTION C=C DEBRIS REQUIREMENTS IN FBC | FL 15078 1 6 >< 8
4 SECTION 5 SECTION
5800 SCOTT
[ <MW, HAMILTON DR.
-"p.‘F:...-..TE«k \ LITTLE ROCK, AR
,’6«.-"' --.,;q&\. 72209
F .' (501) 562-1872
F40 A MODELS:
4 LA ) - 7s0
5 JOHN E. SCATES ; D |rower Nores, pe adoress| 5/29/20 PART NAME:
y RIS LRI R T WINDLOAD RESIDENTIAL SANDWICH DOOR
saios " eF | el e
Ry 2 /15/
.CENSE.. - IN & A | 2866 [3/10/08] RLB |FRACE /64 TNEXT (RVEL | DATE: DWG. NO.
\\/ONAL BN 2851 [11/1/07] RLB NG = 11/1/07 {99—B—-087
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. AAN S J SCALE PLOT SCALE [ DRN. BY
REV.|E.C.N. | DATE: |APPROV. NONE BH SHT 3 OF 4



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


7 _WIDE_STRUTS

ALTERNATE CONSTRUCTION

OPTIONAL SSB GLASS LIGHTS
- - USING (2) STRU
3/4" X 1=1/2" X 13GAGE MIN. 2" GALV. STEEL 1/4" X 3/4" (3) 1/4" CARRIAGE BOLTS —{1.25" | 3" 18 GAGE \ \ @ A
GALV. STEEL HORIZONTAL ANGLE, HORIZONTAL TRACK SHEET METAL SHAFT COLLAR (SEE DETAL A) X\ —
16 GAGE OR 13 GAGE  SCREWS
BASED ON THE WEIGHT
OF THE DOOR. 3" _— e —
o 1 B Y ¢ O — 4B 7
13 GAGE MIN. GALV. STEEL
Pk S S o e : N o~ % L, : ﬂ
5/16" X 1-1/2"LAG_SCREWS. EXTRA _Jl._5/8" ! DETAIL A OPTIONAL: LOCK v\
" 16 GAGE GALV. STEEL > . »
VERTICAL TRACK BOLTED TO X v © 3 19GA WIDE STRAT QP RONe"AR VENT —
WINDLOAD TRACK BRACKETS WITH ’
WDLOAD TRACK, BRACKETS WIH  DRILLING SCREW DETAIL D 13 GAGE GALV. STEEL TOP BRACKET M:; g 0 SQCIN. MIN. | A |
WITH 10 GAGE ROLLER HOLDER. OTAL OPEN AREA. 18’ (DOUBLE CAR)
s s T, T S, e '
" - 4 SECTION CENTER HINGES
74" (16 X 8) SEE DETAIL D. (3) COLUMNS
-
|| 9 WIDE STRUTS OPTIONAL SSB GLASS LIGHTS ALTERNATE CONSTRUCTION
| UT MOUNTED BELOW TOP ROLLER CARRIER—/ °D 3" 18 CAGE usmc(;: (2) STRU
&3] 516 X ;; INTERIOR GALV. & PREPAINTED STEEL (SEE DETAIL A) | — £ -
s e SN e VO W M Y I i B e N
OPENING HEIGHT 1 DETAIL E ) NOTE: DOOR MUST BE INSTALLED !
D(ggg SE%?HT) 477 E13 X 7; A WITH EMTHER AN ELECTRIC OPERATOR &
“r tio X s o o) 2 FouER W 7/16° o LoNG ST B ARG (e B bone |
(5 BRACKETS EACH SIDE)| | | 10 BALL STEEL OR 11 BALL NYLON SPRINGS).
| (15 X 8) SEE DETAIL "C” B B
16 X 7 6 BRACKETS EACH SIDI
216 X 83 ( £) —1°79) 7Z° _/
——~—— STRUT MOUNTED OVER LOWER LEAF OF | B— OPTIONAL: LOCK
21: (16 X 7) HINGE. ] OPTION, L
16" (16 X 8) o ‘ 4 X 16 AR VENT =1 —
STRUT MOUNTED ABOVE HINGE (DETAL G N 4) REQ'D
P~ 120 'SQ. IN. MIN.
¥ 14 GAGE GALV. STEEL OTAL OPEN AREA. 18’ (DOUBLE CAR) {
: END HINGES ATTACHED SHAFT COLLAR N
WITH (6) SCREWS. 5 SECTION —CENTER HINGES
STOP MOLDING NAILED EVERY 6" SEE D(E?A"_ c (3) COLUMNS
D TYPE NAIL MIN. *
. UT MOUNTED OVER LOWER LEAF OF— |
LE #2 HINGE (SEE DETAIL G) '3 GAGE ENDCAP TYP. LOWER STRUT REF. [—SHAFI' COLLAR
. 1/4"X 3/4" LONG HEX HEAD SELF \/o\’l | /
DECORATIVE SHORT EMBOSS, DRILLING SCREWS. USE TWO EXTRA SELF DRILLING 2
DECORATIVE LONG EMBOSS STRUT MOUNTED ABOVE #1 HINGE SCREWS THROUGH TOF AND I \
8 GAGE GALV, STEEL CENTER HINGE OR FLUSH ON EXTERIOR SIDE. SEE DETAL G. SHAFT COLLAR BOTTOM LEAF OF HINGE, o] ] 7
ATTACHED WITH 4 FASTENERS. END CAP AND HINGE PLATE. 7
13 GAGE GALV. STEEL WINDLOAD TRACK BRACKETS. SEE ABOVE A%XQ”IEZDE Dw|$1|_-|EE1I'/4§vTF\;(UE /4" °
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16” X 1-1/2" b LONG HEX HEAD SELF 5/8" SPACE , : o
LAG SCREWS & WASHERS. PREPARATION OF JAMBS BY OTHERS. SEE DETAIL “E". DRILLING SCREWS
. ”» ” °
(10 PER STRUT) —_ "f@ DETAIL 'F =
SECTION B-B STRUT MOUNTED OVER LOWER LEAF OF 2 oo /
—1 J1 HINGE (SEE DETAL G) — . 7
™ POLYSTYRENE INSULATION a TYP. UPPER STRUT REF. AL \/
) (LAMINATED TO INTERIOR AND 19-1/4" |7 7
EXTERIOR STEEL SKIN) SECTION DETAIL C "
21" HIGH SECTION STRUT MOUNTED OVER BOTTOM BRACKET DETAIL G AR
EXTERIOR MATERIAL 27 GAGE — . LH.
GALV. AND PREPAINTED STEEL 5/8" SPACE ,I 8: X 7:
13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 FASTENERS
», — . ) )
NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE SEE DETAL “F" |N°TE' NG T TN YaaIPACT FL 15078| 18" X 8
1/4"-20 X 5/8” HEX BOLTS & NUTS OR SECTION A—A SECTION C—C
1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS. 2ELUON AR 2ELUUN Lo
5800 SCOTT
P.SF. TABLE 4 SECTION 5 SECTION
DOOR SIZE DESIGN PRESSURE TEST PRESSURE |_ EIA_I«_II_AIPETORI‘IOC[IJ(RAR
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE 72209 4
18'-0"(7'—0”[+31.2 [-34.0 [+46.8 |-51.0 . (501) 562-1872
18'-0"|8'—0"|+31.2 [—34.0 |+46.8 |-51.0 7 MODELS:
U4
/7
DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES _— -
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05/12/17. 4 D _[RoUER Nores, Pe AboRESS| 5/29/20 PART NAME: ESIDENTIAL SANDWICH DOOR
[} C [Rev Loco & appress|1/28/13) WINDLOAD R
DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. o & B 12/15/11] RLB | O-ERANCE W3 B
John E Scates PE - o Y Q0. s FRAC.E 1/64 -
2580 King ArthurBivd #124—54| Professional Engineer’s seal \‘@SCENs?/ 0@_— A | 2866 |3/10/08] RLB [FRAC: 075 | NEXT LEVEL DATE: DWG. NO.
Lewisville, TX pr:owded only for yenﬂcatlgn of \\S/ONALE g 2851 [11/1/07| RLB |ANG. % 1 11/1/07 99—B—-087
—PE 56308, F-2203 windload construction details. NN SCALE | PLOT SCALE | DRN. BY
FL~PE—51737 COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018. REV.IEC.N.| DATE: | APPROV. . P



John
Typewritten Text
COMPLIES WITH THE WINDLOAD REQUIREMENTS OF THE IBC/IRC 2018.

John
TX PE Box


	99B087-2020-REV D Sheet1
	99B087-2020-REV D Sheet2
	99B087-2020-REV D Sheet3
	99B087-2020-REV D Sheet4

		2020-11-10T15:26:04-0600
	John E. Scates, P.E.


		2020-11-10T15:26:13-0600
	John E. Scates, P.E.


		2020-11-10T15:26:22-0600
	John E. Scates, P.E.


		2020-11-10T15:26:32-0600
	John E. Scates, P.E.


		2020-11-10T15:26:43-0600
	John E. Scates, P.E.




